Equal 9 step grey scaling betweebh*gan=22 & L*gaw=108.2,Yyret=2, normalisation white W

L*0anF22.8,L*0aU=65.5,L* 0aw=108.2, Yoan=3.3, Yoa=3 7.8, Yoaw=120.0,Coay=Yoaw Yoan=36.0
L*tan=27.8,L*1a=66.5,L*1an~108.2,Y;an=5.2, Yiau=39.1, Yian~120.0,Cay=Yiaw: Yian=22.9

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 BL* min] / [AL* max], L* TusrGB,w = 100 [Y/Yy]YIN(10) with Y >= 0,39 = 100/255Y,=100

g*_*5: 99, g%y= 99 g%= 88, g¥y= 84 g*5= 8_4, g*'y= 80
L* tuBsrGB,w intended output real output linearized output
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AL*o=107  (i=1,2,....8) normalisation: Yiaiw=Yoaw
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